15-2

El’ﬁlf:f(x)dx=3 - fabg(x)dx= 7 E'Jf:[3f(x)-2g(x)]dx=

5 E;;;»
[ (45’ = 6x+2)dx =

y y=f(x)
= E;g«i'
SFETE 2 /A
CHE-R=EER R, ~ R, R FEBSER 1> = 1 A : . x
folf(x)dx+3j;2f(x)dx+ﬁ3f(x)dx= o v v
Z E;J;E' ¥
sy = f(x) Z B AN - HAra{Es e IR EsEs 5/ R =6
R,=8°Ry=4"R,=5" SR THRMM : T i
(I)f:f(x)dx= = (2) fab|f(x)|dx=

% 3%


http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex01/82801_15-2ex01.html
http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex02/82801_15-2ex02.html
http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex03/82801_15-2ex03.html
http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex04/82801_15-2ex04.html

HK FHIFERS :
(1) f (2~ x)dx =

3
@) [E =
X

=z E;gvf'
oK FYIARERE D -
(l)f(zxz— 1)2dx=

(2)f(2x+1)(x2+x+ 1)4dx=

= E; J;E'

TR AEL F (x) S F(x)=3x" — 20+ 10— (AR ERE - BHF(Q)=2 - H]
F(x) =

= E;E, >



http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex05/82801_15-2ex05.html
http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex06/82801_15-2ex06.html
http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex07/82801_15-2ex07.html

ELA] F(x)=f(x— D(x—2)dx + BIF(x) =

= E;A,JE‘
TR ROR R [ — 2ldbe =
= E;gvf'

e [ =1 [Cp@a=3 [Cgd=2" [ gb)de=5
A1 [ *[2(x) + g(0))ax = : [#530)

= E; J;E'


http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex08/82801_15-2ex08.html
http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex09/82801_15-2ex09.html
http://163.16.245.155/LT_C_ex/ch15/82801_15-2ex10/82801_15-2ex10.html

